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2031. Define Essential Use Cases

Use Case 1. Set current time
Actor User
Type Evident
Pre - Requisites mode7} Time-Keeping & E{040f &tCt.
Typical Courses of Events (A) : Actor (S) : System
1. (A) A™ section(Z, &2, Al, &, &, o) M4t
2. (S) S sectiong ZuQlct.
3. (A) sectiong F=M$tct.
4. (S)3tHHol| EoiZECt.
5. (A) dYE =t=EHCt
6. (S) dEZEE WXLIZIM AlZHE Eo{ELCE
Alternative Courses of Events [ N/A

Exceptional Courses of Events

Line 3: Zf section(X, £, Al, &, &, 4)0|

A SRS

4 2 1 O3 section?| gf2 B7HA|IZ|1 &HAIx|ol| =&
sectionQ| Z{E 02 THEL}

Use Case 2. Set timer

Actor User




Type

Evident

Pre - Requisites

Mode 7} Timer 4FE{O{0F StC}.

Typical Courses of Events

(A) : Actor (S) : System
(A) d™E AlZhe| HR|E MEHSHCY.

=
(S) TN =t AlZrel EFRIE EAIEHCH

(A) ST EFRIS) A7 £ 8 Fsit

o wDdh ke

(S) HEE AlzhE EAlstn Dol 2t =EM7HX|

HhSEtCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 4 :2F Et2|9o] 2|C &2 =
7. Z|CHE =ste -2 3

%|CHE E AlStCE

a
Q'I_I
rir
1
02
rlo

Use Case 3. Start timer
Actor Actor
Type Evident

Pre - Requisites

Set Timer0l| 2|3 0= E =18t AlZHO|
M7 E|o] Qlo{oF BtCt.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) Systemoi Timer2| Al &
2. (S) A™E|o] Y= AlZHolM RE| AR AlZtol EE0
[zt 7t E Ct2 8tk

QEFCH

Alternative Courses of Events

N/A




Exceptional Courses of Events | Line 1: TimerQ| A|Z+O| ™ E|0] QK| L 7HLE 0Z 04| M AlEf
30| U2, FAIECH

Use Case 4. Pause timer

Actor User

Type Evident

Pre - Requisites X System= EtO|H StHE £245t 1 RU0{of BtCt.
MYE AlZtS 2 EtO|H7} AI™ S0|oqof Btt.

Typical Courses of Events (A) : Actor (S) : System
1. (A): SystemOi|H| ElO|H HX|E Bt
2. (S): &5 ElO|HE HXIEtCt

Alternative Courses of Events | N/A

Exceptional Courses of Events | N/A

Use Case 5. Clear timer

Actor Actor

Type Evident

Pre - Requisites 24Xl System2 EtO|H 3tHE £345t 1 Q{0{0F Tt
Typical Courses of Events (A) : Actor (S) : System

1. (A): System Ol ElO|H = 7|8t & ™ BTt
2. (S): E}O|HE 022 H&Ct,
3. (S): Eto|He| MHo = CtA| Eotztrt.

Alternative Courses of Events | N/A

Exceptional Courses of Events | Line 1: 0[0] EtO[tH2| A[ZF0] 02! & EHO| A Clear 20|
S0{2H R A[FtC}




Use Case 6. Notify the end
Actor System
Type Hidden

Pre - Requisites

24%Hl System EO|HE &l&st Rlo{0F BhCh.
EtolM7t 00| =|ofok tCt.

Typical Courses of Events

(S) : System
1. (S) E}O|M7t 00| £/™, System Beep2 2 S A|ZICE.

Alternative Courses of Events

N/A

Exceptional Courses of Events

rot

Line 1: Ct2 BeepZt 0|0| & F0|H, FA[EtC.

Use Case 7. Start Stopwatch
Actor User
Type Evident

Pre - Requisites

Mode7} StopwatchZ A% E|0{ Q/o{of BtC}.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOi| Stopwatch@| A|Xtg Q& tC}.
2. (S) Stopwatch0ll M{&El AIZHFE{ Count upBtCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 2 : Stopwatch0i| A EA|7ks 8 2| 0|4 2| Count up
(Stopwatch7t A|ZF El S EHOIM & AlZH L R|E B2)
AHS2Z StopE 022 Xx7|3 St

(HAIZ ERIE RN 2 715t O|2{Et S22 Al™)

Use Case 8. Pause Stopwatch
Actor User
Type Evident




Pre - Requisites

$4xH System2| Mode2 Stopwatch 0|0{0F FtC}.
Stopwatch2| AlZto| IRl 4FEfO[o{oF BFC}.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOi|H| stopwatch LAIHXIE Q&ML

2. (S) Tl &2l stopwatch AlZt2 HX|EtCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 9. Record Lap Time
Actor User
Type Evident

Pre - Requisites

Start stopwarch7t A4 E|0] Rl= 2 EfO{0FFHCY.

Typical Courses of Events

(A) : Actor (S) : System
1. (A): Stopwatch ZIE0] Lap time 7|82
2. (S): 8 stopwatch AlZHE 7|§ 350 Eo{&ELCE

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 2 : Lap time 7|& 2| 2[CHEtE O|4 22 Q@FH0| E0{2™
7He QElEl 7|2 RE REHCHE AXMEl T MZ2 Lap timeOl

7|5 Elct.

Use Case 10. Clear stopwatch
Actor User
Type Evident

Pre - Requisites

Pause stopwatch7t M3 E|0] Q= 4 Ef0{0FFHCt.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) System0] Stopwatch2| Z7|3}& QX stC}.
2. (S) #Xl Stopwatchl| A|ZtE2 022 X 7|5}H5tCt.




3. (S) 2 E Lap Time 7|52 AFA|Etct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1 : Pause?} OHEl AEHOI M Clear@ H5tH F A|SHCE.

Line 1: 00l A2| Clear R 5t FA|BtCL.

Use Case 11. Delete alarm
Actor User
Type Evident

Pre - Requisites

alarm mode0i| £047}0of StC}.

Typical Courses of Events

(A) : Actor (S) : System

1. (A) MANE g2he MEistT AXE -t
2. (S)MEE 222 AX|stD EoiECt

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: H|04 e LM AH 22 FAIEC

I

Use Case 12. Activate alarm
Actor User
Type Evident

Pre - Requisites

£ Lol MEfE|of Rlofok ErC.

Qrel2 deactivate 21 A EZ Ql04oF &L}

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOi|H| &2 M3 @& &t

2. (S) i alarm2 & Ad3} StC).

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: H|0{ = &0

==




Line 1: HIE &3 £lof Q= 2ol €43t F. FAIECH
Use Case 13. Deactivate alarm
Actor User
Type Evident
Pre - Requisites 247 Mode2 alarm 2 =040F BHC}.
HIZ d3tAl7|= 230l 4B z|o Rlo{oF BHCt.
e L0l activate 4 E{o{0F EHLCH.
Typical Courses of Events (A) : Actor (S) : System
1. (A) SystemOi[H| 222 H|EE3 ¥ Btrt
2. (S) 3l alarmS H|E A3} §tot.
Alternative Courses of Events [ N/A
Exceptional Courses of Events | Line 1: H[0{ QI= &0l HIZ &3 2. FAIECH
Line 1: 43t £lof Q= ol HIE st 2F. FA[EC

Use Case 14. Set alarm
Actor User
Evident

Type




Pre - Requisites

of

Mode7} Alarm2 2 A E|o{ RIo4of FtC}.

Typical Courses of Events

(A) : Actor (S) : System

1. (A) =™E alarm= MEASCE
2. (A) ME8E alarm Q| AHE Alzt EHRIE MEHEHT
3. (S) Y B2 Alzto| EHRIE EAIFHCH
4. (A) Y EHR(o| A7 HHE FFCH
5. (S) 2ol et B AlIZHEHE HEEIC
6. (A) AlZt MY g t=EEHCt.
7. (S)HEE AlZHE EAIStD 2E HRIAZE EHO
2227t K| g8kt
Alternative Courses of Events | Line 1: 3 alarmZtO| H|0{R} = B, LS MM5tT

Mgt

Exceptional Courses of Events

N/A

Use Case 15. Notify alarm
Actor System
Type Hidden

Pre - Requisites

System2| &3} El Mode & alarmO| ZH5t040F &Lt
g M3HEl alarm Q| A|Z+} System A|ZHO| S §loqof St

Typical Courses of Events

(S) : System
1. (S) $XH AlZtD} SystemO| SU&t
s AlZICt

™, beep2

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: 0|0 Beep7t & & 0|™ F A|EtCt.




Use Case 16. Set case number
Actor User
Type Evident

Pre - Requisites

0f

%4xf Mode = Decision Making 0|0{0} L},

Typical Courses of Events

(A) : Actor (S) : System
(S) System2 Default Case Number
(A) System0]| Case Number2| &=Hg @& stCl.

3. (S) Case NumberE #748tct.

i
=]
>
rol
jul

Alternative Courses of Events

Exceptional Courses of Events

Use Case 17. Get case
Actor User
Type Evident

Pre - Requisites

#4x Mode = Decision Making0|0{0F tC}.
Set Case Number A% 0| 2t= El 2'E{j0|0{0F BtCt.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOi| Case Number O|LH2| Random

NumberE & stCt.




2. (S) Actor0i| Al Random NumberZ& A& 8tC}.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 18. Choose a city
Actor User
Type Evident

Pre - Requisites

#4xl Mode & global time 2 =040f St}

Typical Courses of Events

(A) : Actor (S) : System
1. (A): HES 0|88 T AIE MEiEHCE.

EHS
2. (S): s T A|Qto| AlXHE 7AH|AHSlod Eo{&ECE.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 19. Calculate time of city
Actor System
Type Hidden

Pre - Requisites

& 431l Mode & global timeO| {lo{of Bt

Typical Courses of Events

(S) : System
1. (S) BN HHE A
3 T Al9| AlZhE AHAHtCE

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case

20. Change current mode




Actor User
Type Evident
Pre - Requisites N/A

Typical Courses of Events

(A) : Actor (S) :
1. (A) X C|AZ8I0| E[= Mode #H3E @& BtCh
2. (S) 81X E04X|= model| C}HE modeZ
Cl&Zclo|§ T2tstct

System

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 21. Select modes
Actor User
Type Evident

Pre - Requisites

AAT 2E dEE 22 TIsH Qlofok Bt

Typical Courses of Events

(A) : Actor (S) :
1. (A)Actor7} 4458t

2. (S) Medzt me
Mg 4 s

System
modeE 47} K| ME4FHC,
£ Change current modeS S5

£ setting$tCt.

Alternative Courses of Events

Line 2. Mode AiEQI0I M O]9} CHE AR, Line12 E0tZtCt

Exceptional Courses of Events

N/A

Use Case 22. Activate beep
Actor System
Type Hidden

Pre - Requisites

AZo|Lt EtolH S22 §H Alzho| A& E|of R{0{oF EtCt.




Typical Courses of Events

(S) : System
1. (S) ¥ O|Lt EIO|HZE FE| BeepRZH 0| E0{2H,
BeepE = S 2ICt.
2. (S)Actor7t g0l 22l= X & = ULSE

ClAZ2olghct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 23. Deactivate beep
Actor User
Type Evident

Pre - Requisites

of

2ol 22l= & ofo{of BtCh.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) SystemOil Beep= SX|E QLY.

2. (S)Beep== SX[tct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




2032. Refine Use Case Diagrams

RDM Watch System

1. Set current time

5. Clear timer
7. Start stopwatch

8. Pause stopwatch
. 9. Record Lap Time

—
\ 10. Clear stopwatch
11. Delete alarm
12. Activate alarm

13. Deactivate alarm

14. Set alarm
16. Set case number
18. Choose a city
NN
20. Change current mode

21. Select modes
23. Deactivate beep

Actor

71N

6. Notify the end

15. Notify alarm

19. Calculate time of city

22. Activate beep




2033. Define System Sequence Diagrams

USE CASE: Set current time

1. (A) 8™ section(XE, &, Al, &, &, 2
MEdStCH
:Syst
2. (S) Y sections ZwolCt, Syeem
3. (A)section2 FXtct. g
4. (S)3tEHol 2oiZ=Ch : ;
5. (A) Mg etEstot loop  / ' 1.selectUnitTime(unit) '
6. (S) MYEZEE WR{LIZEM AlZHS i._... Highiight Unit(Blink")
Hoi&LC} ' 2. changeUnit()
{4 Display Ghanges 4
: 3. setCurrentTime() :'
; Set_OK :
| joDispley Cureni Temo __ |
USE CASE: Set timer
(A) : Actor (S) : System %
:System
1. (A) AHE AlZto] EHRIE MEASHD) o :
2. (S) X £H5HE Azt BHRIE 1' I'
_ _ loop J 1. selectUnitTime() o
EAIECH . Hhlgnt UnkCBine)
. (A) Y Bt AlZt £HE -t : B Sareti) i
4. (S) %ol et BHlAIZieHE HAED < ___________ G izl 11T
. (S) HEE Azt Bt MHO| = ;
22 x| gHEstot




(A) : Actor (S) : System

USE CASE: Start timer

1. (A) SystemOi| Timer2| A|Zg @&t} E ‘System
ctor
2. (S) M™E[0] U= AlZHOA £ E{ &K | :
Alztol 220f 2t 7o E che st Lo >
PENNNANNS ReplyStart ’
USE CASE: Pause Timer
(A) : Actor (S) : System
1. (A): SystemOi|#| ElO|H HX|E % :System
QL) Ac:tor
2. (S): &39I Eto|HE MX|3HcH. '
1. pauseTimer() ...E
D R R RepyPusse |

USE CASE: Clear Timer




(A) : Actor (S) : System

1. (A): System Oi#| E}O|H X7|8IE :System
245 ' :
LBEL Actor 1.clearTimer() u
2. (S): EtO|HE 022 HtECt. ] i
3. (S): Eto|He| X o= ChA| Sotztct. SEEEEEEEN Reply Tmer .
USE CASE: Start Stopwatch
(A) : Actor (S) : System
1. (A) SystemOi| Stopwatch2| A|Z2
At} :System
2. (S) Stopwatchol X{%& &l A|ZHFE] Count :
= Actor '
upetCt. : :
1. startStopWatch()
Display Stopwatch
372 L A 1

USE CASE: Pause Stopwatch




(A) : Actor (S) : System

1. (A) SystemOi|H| stopwatch LAIHX|E

\oX=}yu

N
w

) T8 &2l stopwatch AlZHE
INF

02
£l

Actor

1. pauseStopWatch()

displayStopWatch

USE CASE: Record Lap Time

(A) : Actor (S) : System

1. (A): Stopwatch TS0 Lap time
7188 Fs
2. (S): #1XH stopwatch AlZtE 7|5 5104

HoiZELl.

:System

Actor

1. recordLapTime()

Display Lap Time :
O ECEEECEEEE LR LT 4




USE CASE: Clear Stopwatch

(A) : Actor (S) : System
1. (A) SystemOil Stopwatch2| Z7|3&

QY

:System
2. (S) ¥l Stopwatch2| A|ZtE 022
=7|&}gtct. Actor
3. (S) ZE Lap Time 7|28 Afxl|stct. : -
i 1. clearStopWatch() E
E Display Stopwatch E
| e ;
USE CASE: Delete alarm
(A) : Actor (S) : System
1. (A) MHE LS HENSH D AXE
QAFCH :System
2. (S) MEHEl 3 g AtM|stn HoiECh Actor

1. deleteAlarm(alarmNum)




USE CASE: Activate alarm

(A) : Actor (S) : System
1. (A) SystemOi|H| g2t &
stCt.

2. (S)dllY alarm2 & 443} SiCt.

Actor

1. activateAlarm(alarmNum)

System

USE CASE: Deactivate alarm
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USE CASE: Set case number




(A) : Actor (S) : System

1. (A) SystemO0il Case Number2| =g
st System
2. (S) Case NumberZ $H3tc}. Actor
5 1. setCaseNumber() ‘_E
5 Display Modified Case Number E
USE CASE: Get case
(A) : Actor (S) : System
1. (A) SystemO0i| Case Number O|LH2|
Random NumberE 2 & $tc}. :System
2. (S) Actor0| Al Random Number& :
) Actor ;
X3 ettt - :
5 1. getCase() \
E Display Random Number :




USE CASE: Choose a city

(A) : Actor (S) : System

1. (A): HEE O|8dH TAIE ME4BICE

2. (S): i TAIeto| AIRHE H|&tstod :System
Hoi&ELC}. Actor
g 1. chooseCity(cityName) E

Display city's time

USE CASE: Change current mode

(A) : Actor (S) : System
1. (A) & C|AEH 0| £l= Mode HAE S

M

=t

0]
0

. :System
M 20{X|= model| CHE mode 2

e

n
—_

S)

Actor

M

|AZ20l& T

Fot
rot

tstct.

1. changeCurrentMode()

v

Display next Mode

L I N D T R U e e




USE CASE: Select mode

(A) : Actor (S) : System

1. (A)Actor7t E438lE modeE

MEEC

2. (S) MEf8t 2= Z Change current

settingStC}.

47} K|

Actor

'
Il
'

:System

E 1. selectModes(mode1, mode2, mode3 , mode4)

Display("OK!")

[ '
' '
[ L L L L E T E T
< '
i '

USE CASE: 23. Deactivate beep

(A) : Actor (S) : System
1. (A) SystemOil Beep= SXIE
2. (S)Beep=2 FX[8trt.

QEECH

Actor

:System

1. deactivateBeep()

v




2035. Define Domain Model

TimeKeeping

1 currentTime: Local Date Time

Timer

currentTime: Local Date Time

~—— leftTime: Local Date Time

Bean endTime: Local Date Time
activated: Boolean
1 - Stopwatch
1 | lapTime[10]: Local Date Time
—
startTime: Local Date Time
1
> : 1 savedTime: Local Date Time
= RDM Watch System I ! " Mode 1_")
Y, :
available[4]: Mode + field: type WorldTime
disable[2] : Mode +field: type city4]: Stirng
timeDifference[4]: Local Date Time
E DecisionMaker
= StaticTime caseNum: Integer
alarmTime : Local Date Time - Alarm
activated: Boolean alarmList[4]: StaticTime

2038. Refine System Test Cases

Test Test &= Description

Number

Set current time | Z|E 2| AlZtol M A8 A2t 2 #XH A|ZHO| MCHE

HZAE|=X| TestEHCt.

Set timer TimerO| A AFXE7F S A2t 2Ee 2 M E|=X] testEHC.

Start timer Timeroi| M=l A|ZHEE Timer7} A& E[=X]| TestStCt.

4™l AlZte| &1t SUSHA Timer7t R E|= K| TestStC}.




4
Pause timer | EX| HEo0| siEst= A&7 Fo{FE Aloi EtO|H7E
M X|5t=X] Test BtCt
5 -
Clear timer | Timer2| M AlZt0| 022 =73t £|l=X| TestdtCl
Timerg Adsll =1 MEEl 4742 Modedl M M| 2| A|IZE 2
timer7t 7|3} £|=X| test&HCt.
6 -
Notify the end | Timer7} SZ&|™ XMCHZ BeepS 0| 22| X| TeststCt
of timer
7 -
Start stopwatch | Stopwatch7} 0Z= R E{ A|& E|=X]| TestdHCh
Stopwatch2| A|Z+O| AlZte| E&of 2t MCHE B7tst= X
Test8tCt
8 -
Pause Stopwatch7} HX| HHE0| s st= AE 71 Fo{F 2
stopwatch Stopwatch0ll EA|E! $4RH AlZhod| M HX[St= K| TestErCh
9 -
Record lap time | StopwatchOilA{ Lap Time0ll 815t AS7F Fo{%iSm
Stopwatch0l| EA|El 2% AlZkO| 7|F E|=X| testBHCt.
10 _
Clear stopwatch | Stopwatch7t Z7|2t2 2 M £|=X| TestdtCt
MEAEl 47FX| ModedI M M2l E B2 =712 8 El=X|
Test8tCt.
11 Delete alarm | 4143t 22 0| MCHE AFM| E|R= K| TesttCt




12 Activate alarm | &3t &l Alarm A|7t0| £|™ Beep=20| 22|= X| TestEtCt.

13 Deactivate alarm | HIZA&tE Alarm A|ZHO| & [, BeepOl| 22IX| S EXIE
Test8tCl.
MEHEI 47} K| Moded| M MQ| & Z HIZEHE &|=X]
testBtCt.

14 Set alarm AlarmA|ZHO| MHEl AlZte 2 HZE | =X TestEtCt.

15 Notify alarm | #48tEl AlarmBt & 2[= K| TesttCt.

16 Set case number | 2238t 2t S 2 Case Number7t A E|=X| TestEtCl.

17 Get case 1248t Case NumberLi Q| CaseBt LI 2 =X| TesttC}.
Random$t 2t S 2 Case7} LI 2 = K| TestStC}.

18 Choose a city | ME4El City2 A E[=X]| TestEtrt.

19 Calculate &K AlZHE 7|8H56104 CHE Cityo| AlZte 2 MH E|EX]

current time of | Test8tC}.
that city
20 Change current | XIHE HEE 32 M, Tt S Mode 2 HE E|=X| TestdtCt.
mode

21 Select modes | X|’'HE HES %2 [, Mode MEAF S E HO{7t=XK|
Test8tC}.
Mode MEHZE0I| M MEHEF 471X 2] Mode 7t Activate ot | A7
T|=X]| TestSHC}.

22 Activate beep |BeepEE &l AIZI2M|, BeepS0| 240 5t= 2
4 2H0i| M Beep=2 0| 2 2|=X| Test BtCt.

23 Deactivate beep | XIHE HES =72 [, Beep= 0| SR E|=X| test EHCt.




2039. Perform 2030 Traceability Analysis

Ref# Function Use Case Number & Names Operation in sequence diagram

R11 Set current time »| 1. Set current time 1-1. selectUnitTime(unit)

R21 Set timer |- | 2 St timier 1-2. changeUnit()

R2.2 Start timer |3 Start timer 1-3. setCurrentTime()

R2.3 Pause timer — |4. Pause timer 2-1. selectUnitTime()

R2 4 Clear timer - | 5_ Cle2@r timer 2-2. changeUnit()

R2.5 Notify the end of timer l——p | 6. Nofify the end 3-1_ startTimer()

R31 Start stopwatch | 7. Start stopwatch 4-1. pauseTimer()

R3.2 Pause stopwatch — | 8. Pause stopwatch \ 5-1.clearTimer()

R3.3 Record lap time > |9_ Reccord lap time \ 7-1. startStopWatch()

R3.4 Clear stopwatch |- | 10.. Cl2ar stopwatch \ 8-1. pauseStopWatch()

R41 Reset alarm " |11. Reset alarm \9—1.recordLapTime()

R4.2 Activate alarm + | 12. Activate alarm \ 10-1. clearStopWatch()

R4.3 Deactivate alarm et | 13. Decactivate alarm \ 11-1. deleteAlarm(alarmhum)

R4 .4 Setalarm »|14. Set alarm \ 12-1. activateAlarm(alarmhum)

R4.5 Notify alarm | 15 Notify alarm 13-1. deactivateAlarm(alarmNum)

R5.1 Set case number *|16. Set case number 14-1_ selectAlarm{alarmNum)

R5.2 Get case et | 17_ Gel case 14-2. selectUnitTime(unit)

R6 1 Choose a city || 18 Choose a city 14-3. changeunit()

R6.2 Calculate current time of that city j———]19. Calculate time of city 14-4. setAlarm()

R7 1 Change current mode [=—120. Change current mode 16-1 setCaseMNumber()

R7.2 Select modes - | 21 Select modes 17-1 getCase()

R81 Activate beep -»| 22 Activate beep 18-1 chooseCity(cityName)

R8.2 Deactivate beep 23. Deactivate beep k20-1 changeCurrentiode()

\ 21-1 selectModes(mode1, mode2, mode3 , moded)

23-1 deactivateBeep()




